Tjérns BK

Partavling Hcp 2022-08-26

Partavling, 10 bord, 20 par. Antal brickor: 24. Medel: 216.0.

Plac Par Poéng % Namn MID Klubb
1 7 2457 56.88 Lena Zetterup - Jan-Olof Zetterup 87572 87573 Stenungsunds BK
2 5 240.3 55.63 Margareta Karlsson - Ulla-Brith Johansson 60947 55028 Stenungsunds BK - Tjoérns BK
3 12 237.6 54.99 Erik Sved - Bengt Nordstrom 16 36124 Tjorns BK
4 20 236.0 54.62 Gunlog Liljedahl - Rune Bjérkman 53836 7505 Tjorns BK
5 6 233.8 54.12 Laila Barone - Arvid Halvorsen 50185 14217 Tjorns BK - Stenungsunds BK
6 8 232.6 53.85 Kerstin Tidlund - Birgitta Isacson 32675 87270 Tjorns BK
7 18 2321 53.72 Kristina Nordenstam - Ingela Sollid 58477 59394 Tjorns BK
8 4 220.2 50.96 Bo Kenne - Marianne Axfjord 41844 88823 Tjorns BK
9 10 2189 50.66 Kjell Berg - Alf Téorma 13142 17389 Tjorns BK
10 1 218.3 50.52 Bjorn Rahmgqvist - Claes Andreasson 13330 8837 BK S:tErik
11 11  216.3 50.07 Ingrid Hasselgren - Elisabeth Bryngelsson 46966 60937 Stenungsunds BK
12 19 2139 49.52 Lise-Lotte Grape - Barbro Gardéeus 41842 41407 Tjorns BK
13 3 210.6 48.75 Gota Hakansson - Gert Mortensen 55026 13171 Stenungsunds BK - Tjorns BK
14 15 209.1 48.40 Jan Andersson - Ingrid Heyer 54744 49021 Tjorns BK
15 9 203.1 47.01 Thomas Englund - Géran Linder 41642 7510 Tjorns BK
16 17 198.3 4590 Eila Andersson - Solveig Olausson 87576 26751 Stenungsunds BK
17 14 197.7 45.77 Allan Johansson - Ingegerd Nordwall 18392 87558 Tjorns BK
18 16 193.4 4477 Britt-Inger Bauhr - Gull-Britt Sved 17239 5115 Tjorns BK
19 2 181.2 41.94 Britt-Inger Ryding Johansson - Irma Svensson 63607 46610 Stenungsunds BK
20 13 181.1 4192 Arne Bauhr - Kenneth Blomgren 17240 2942 Tjorns BK
1 47643 Basta kontrakt 2 & E954 Basta kontrakt 3 oK Basta kontrakt
Nord vE6 7NT N =1520 Ost v D104 2¢ O =-90 Syd v DKn10964 44 V D -1 200
Ingen + 108 NS + 104 ov + KKn32
#Kn8654 & ¢ v & NT #DKn75 & ¢ v & NT »K2 & ¢ v & NT
4KD82  4Knl05 N 13136 8 13 oK 410872 N856 77 4 ED1052 4Kn84 N 3 7 103 5
vKn8742 vKD1093 S 13136 8 13 vEKNn95 vK32 S856 77 v3 vE2 S 3 7 103 5
¢ 62 ¢ Kn53 000750 ¢ ED652 ¢ Kn73 0587 6 6 ¢85 ¢10974 O 106 3 9 7
109 *73 VO0OO0O750 #1098  #K32 V58766 #E8753  #D1096 V 106 3 9 7
4 E9 # DKn63 49763
v5 v 876 v K875
+ EKD974 + K98 + ED6
#EKD2 *E64 «Kn4
Par  Kontr Ut Res Poang Par  Kontr ut Res Poang Par  Kontr ut Res Poang
6 14 64 S+1 4K 940 150 30|12 15 2¢ V-3 ¢T 150 180 00| 6 20 4v N= 6 420 120 6.0
12 15 64 S+1 42 940 150 30|19 2 2¢ V-2 «7 100 16.0 20| 8 10 4v N= 4J 420 12.0 6.0
13 1 64S+1 &T 940 150 30| 6 14 3v V-1 *T 50 13.0 50| 9 16 4v N= a4 420 120 6.0
19 2 6¢ N+1 &3 940 150 30| 7 9 3+V-1 ¢4 50 13.0 50|11 18 4v N= T 420 120 6.0
16 8 6¢ N= vQ 920 100 80| 4 17 2¢ V= a4 90 100 80|13 2 4v N= 9 420 12.0 6.0
4 17 3NN+3 ¢3 490 7.0 11.0(16 8 2¢ V+1 v4 -110 7.0 110|117 5 4vy N= T 420 120 6.0
11 3 3NN+3 ¢3 490 70 11020 5 1le V+2 £Q -110 70 11019 3 4vy N= 9 420 120 6.0
7 9 5¢ N+2 vK 440 20 16.0|11 3 INO+2 43 -150 3.0 150 1 15 3y N+1 &7 170 2.0 16.0
18 10 5¢ N+2 vQ 440 2.0 16.0|18 10 1INV +2 *7 -150 30 15.0(12 4 3vy N+1 T 170 2.0 16.0
20 5 5¢ N+2 vK 440 20 16.0|13 1 24 S-2 &T -200 0.0 18014 7 3vy N+1 &) 170 2.0 16.0
4 « DKn1083 Bésta kontrakt 5 » KD5 Bésta kontrakt 6 » EK104 Bésta kontrakt
Vast v KD96 5& V D -2 500 Nord vE92 5NT N =660 Ost v EKn 64 N =920
Alla ¢4 NS + EKn105 ov + K865
*E64 & ¢ v & NT #KDKn & ¢ v & NT #EKn2 & ¢ v & NT
49 ~ K6 N 3 4 8 106 4 EKN973 442 N 9 10119 11 45 4« D8762 N 126 6 1011
vKn53 vE72 S 3 4 8 106 v43 v KKn7 S 9 10119 11 v10985 v D643 S 116 6 9 9
¢ KDKn73 ¢ E1065 09 9426 +73 ¢ D942 043242 ¢ DKn103 ¢ E972 0167 32
#K983 #DKn107 V995286 #9532 #10876 V43242 #9875 »- V16732
4 E7542 41086 4~ Kn93
v 1084 v D10865 vK72
+ 982 + K86 *4
#52 &E4 #KD10643
Par Kontr Ut Res Poang Par Kontr ut Res Poang Par Kontr ut Res Poang
1 15 3« N+1 #Q 170 150 30 1 5 3NN+2 &8 660 13.0 50|14 8 6NN= ¢6 990 18.0 0.0
8 10 3a N+1 ¢A 170 150 30| 4 19 3NN+2 ¢4 660 13.0 50| 9 11 3NN+4 42 520 16.0 2.0
11 18 34 N+1 vA 170 150 30| 6 17 3NN+2 ¢2 660 13.0 50|10 16 3NN+3 ¥4 490 140 4.0
12 4 24 N+2 #Q 170 150 3.0 9 11 3NN+2 ¢2 660 130 50| 1 5 3NN+2 43 460 9.0 9.0
9 16 4¢ V-1 aJ 100 8.0 10015 2 3NN+2 ¢5 660 13.0 50| 4 19 3NN+2 42 460 9.0 9.0
13 2 4¢ V-1 «Q 100 8.0 10020 7 3NN+2 &7 660 13.0 50| 6 17 3NN+2 42 460 9.0 9.0
14 7 4e V-1 «Q 100 8.0 10010 16 4v S+1 &A 650 6.0 12.0(20 7 3NN+2 &2 460 9.0 9.0
17 5 34 N-1 ¢ A -100 40 140(18 12 4y N= 42 620 40 140|113 3 2NN+3 42 210 40 14.0
6 20 4¢ V= vQ -130 10 17.0|14 8 3NN= ¢4 600 20 16.0|18 12 54 S-1 a5 -50 2.0 16.0
19 3 4e V= 4Q -130 10 17.0|13 3 6NN-2 ¢4 -200 0.0 180(|15 2 44 N-3 *7 -150 0.0 18.0
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7 463 Basta kontrakt 8 4 D952 Basta kontrakt 9 » EK9 Basta kontrakt
Syd vD1053 6NT S = 1440 Vast v D974 ANT V =-430 Nord v 1053 ANT N =430
Alla +E84 Ingen *E7 ov + K84
*KD96 & ¢ v & NT «D102 & ¢ v & NT #K1093 & ¢ v & NT
4954 «ED102 N 1210121012 «108 4EKn7643 N 3 2 7 3 3 465432 #1087 N 108 106 10
v 986 v K42 S 1210121012 v6 v EKn10 S$33733 v2 v Kn9864 S 108 106 10
¢DKnl10 ¢ 9532 013121 ¢ KDKn983 ¢ 6 O 10106 1010 +D10765 ¢ E3 035363
#Knl1074 %83 viisilz2i1 #E754 *K86 vV 9 106 1010 «D2 *E64 V3536 3
4 KKn87 &K 4 DKn
v EKn7 v K8532 v EKD7
¢ K76 ¢10542 ¢ Kn92
#E52 #Kn93 #Kn875
Par Kontr Ut Res Poang Par Kontr ut Res Poang Par Kontr ut Res Poang
14 9 3NN+3 v4 690 180 00| 7 17 3NO-2 v5 100 170 10|15 4 3NN+2 v4 460 180 0.0
1 18 3NS+2 &7 660 150 3.0|13 4 3NO-2 v2 100 170 10| 6 19 3NN+1 47 430 140 4.0
10 12 3NS+2 #4 660 150 30| 2 6 3NO-1 v2 50 140 40|14 10 3NN+1 v6 430 140 4.0
7 17 3NS+1 &7 630 8.0 10.0|16 11 24 O+1 ¥5 -140 110 70|20 9 3NS+1 +6 430 140 4.0
8 20 3NS+1 ¢Q 630 8.0 100|19 5 24 O+1 v2 -140 110 70| 3 7 3NS= v2 400 70 11.0
13 4 3NS+1 +Q 630 80 100| 1 18 34 V+l v2 -170 70 110|111 1 3NN= T 400 70 11.0
15 3 3NS+1 #4 630 8.0 100|15 3 24 O+2 v2 -170 70 110|113 5 3NN= v8 400 70 110
16 11 3NS+1 T 630 80 10.0| 8 20 44 O= v2 -420 30 15016 12 3NN= v9 400 70 11.0
2 6 3NS= v8 600 1.0 17.0|10 12 44 O= v3 -420 30 150|117 8 1lvS+1 7 110 20 16.0
19 5 3NS= «J 600 10 170|14 9 44 0+1 v2 -450 0.0 180| 2 18 4vS-1 v2 -50 0.0 18.0
10 « E32 Bésta kontrakt 11 4 8643 Bésta kontrakt 12 a74 Bésta kontrakt
Ost v 8652 3¢ O =-110 Syd vE10632 3+ V =-110 Vast vED763 54 V =-450
Alla + K95 Ingen ¢ Kn75 NS + 10953
#K43 & ¢ v & NT *4 & ¢ v & NT *K5 & ¢ v & NT
+109 & Kn87 N6 4786 4EK1095 4D N31613 4 EDKN105 &K92 N23723
v K10 v DKn94 S6 4786 v 98 vKn74 S31613 v- v K109 S23723
¢ Kn10874 ¢ ED62 06 9656 + D108 ¢ EK932 0986 87 ¢ Kn ¢ EKD82 O 11106 1110
#EKn52 %106 V69656 #K98 #D1072 V986387 #10987643 #DKn V 11106 1110
& KD654 4 Kn72 « 863
vE73 v KD5 v Kn8542
+3 +64 ¢ 764
»D987 #EKn653 SE2
Par Kontr Ut Res Poang Par Kontr ut Res Poang Par Kontr ut Res Poang
6 19 34 S= ¢T 140 16,0 20|10 20 3NV-2 v3 100 180 00|15 5 64 V-3 vA 150 18.0 0.0
16 12 34 N= ¢T 140 160 20|18 3 2¢ O= *A 90 16.0 2.0(18 3 4aV+l a7 -150 16.0 2.0
20 9 24 S+1 7 140 160 20|13 6 3y N-2 +Q -100 13.0 50|12 2 2NO+2 v4 -180 14.0 4.0
3 7 24S= 9 110 11.0 70|14 11 2¢vDN-1 «Q -100 13.0 50|17 9 34 V+2 YA -200 120 6.0
13 5 24 S= &5 110 11.0 7.0|112 2 2¢ O+1 ¢4 -110 90 90|10 20 44 V= vA -420 8.0 10.0
2 18 Pass 6.0 12015 5 2¢ O+1 ¥5 -110 90 90|14 11 4e V= oT -420 8.0 10.0
11 1 Pass 60 120|116 1 2NO+5 6 -270 60 120|119 7 44 V= v7 -420 8.0 10.0
17 8 Pass 6.0 120 4 8 3NO+1 +¢5 -430 3.0 15016 1 44 V+1l vA -450 4.0 14.0
15 4 346S5-1 +8 -100 20 16.0(17 9 3NV+1l 2 -430 3.0 150 4 8 3NO+2 5 -460 10 17.0
14 10 3¢ O+1 vA -130 00 18019 7 3#DS-4 oA -800 00 180|13 6 4NO+1 v2 -460 1.0 17.0
13 4 D762 Basta kontrakt 14 4 KD965 Basta kontrakt 15 4 E92 Basta kontrakt
Nord v Kn93 2NT N =120 Ost vEDS5 44 O D -1 100 Syd v 92 4v V =-420
Alla + K87 Ingen * K7 NS ¢ Kn42
*KA42 % ¢ v & NT #Kn96 & ¢ v & NT #EKn832 & ¢ v & NT
«EKKn 4108543 N9 8658 41032 4Kn4 N4 48897 4K76 #Knl0854 N 9 8 3 4 4
vE874 vD52 S 986538 v10 v Kn983 S 44897 v 10843 v EKD75 S 88344
¢104 ¢ Kn963 0456 84 ¢9542 ¢ EDKn3 09 9545 +D983 +¢6 045 109 6
#Kn765 &E V456 84 #EK753 #1082 V99545 *75 *K4 V 45 109 6
49 4 E87 «D3
v K106 v K7642 v Kn6
¢ ED52 + 1086 ¢ EK1075
#D10983 *D4 #D1096
Par Kontr Ut Res Poéang Par Kontr ut Res Poéang Par Kontr ut Res Poéang
7 13 24 O-2 «9 200 180 00| 7 13 44 N= ¢J 420 180 00|16 3 3#N-= vA 110 18.0 0.0
5 9 240-1 ¢5 100 140 40| 1 3 24 N+3 ¢A 200 160 20| 9 19 4vDO-1 +K 100 16.0 20
14 12 2¢v0O-1 «9 100 140 40|15 6 24 N= v9 110 130 50|17 11 44 O-1 ¢A 50 140 4.0
17 10 34 O-1 vT 100 140 40|18 4 24 N= v3 110 130 50|13 8 3vO= ¢A -140 120 6.0
16 2 2#S-= & A 90 90 90| 8 19 24 N-1 &T -50 80 10.0| 6 10 24 O+2 K -170 8.0 10.0
18 4 2+S-= *4 90 90 9.0|11 20 44 N-1 v3 -50 80 100|15 7 340+1 +A -170 8.0 10.0
8 19 3¢ N-1 *A -100 6.0 12017 10 34 N-1 *2 -50 8.0 10.0(18 5 24 O+2 ¢A -170 8.0 10.0
15 6 24 0= *2 -110 40 140 5 9 44 N-2 v9 -100 30 150| 1 14 44 N-2 vA -200 3.0 15.0
1 3 3¢S-2 s A -200 10 17016 2 3v N-2 a4 -100 30 150| 2 4 3¢ S-2 v4 -200 3.0 15.0
11 20 3NN-2 vQ -200 10 170|114 12 3# 0= oK -110 00 18020 12 4v V+1 #J -450 0.0 18.0
16 « E10875 Bésta kontrakt 17 410972 Bésta kontrakt 18 & K2 Bésta kontrakt
Vast v EKD 44 N =420 Nord v K54 44 O =-420 Ost v E1097 4%« N =130
ov + ED2 Ingen + Kn109 NS ¢ E42
*D2 & ¢ v & NT #KKn7 & ¢ v & NT #DKn32 & ¢ v o NT
& K62 a4 N5 85 107 ~EK54 4D83 N3 4233 498643 & EDKn5 N 108 5 4 8
v 109 v Kn8652 S 585 107 v632  vDKn97 $34233 v6432 vKKn85 S$98446
¢ K853 +96 084522 ¢ED54 ¢76 09 9 10109 ¢Kn96 ¢ D105 035884
#K1043 #EKn986 V846 36 *64 #ED102 vV 9 9 10109 *4 *E7 V35884
« DKn93 + Kn6 « 107
v 743 vE108 vD
¢ Kn1074 ¢ K832 ¢ K873
&75 #9853 #K109865
Par Kontr Ut Res Poang Par Kontr ut Res Poang Par Kontr ut Res Poang
18 5 44 N+1 9 450 170 10|18 6 3NO-1 ¢3 50 180 00| 9 13 INO-4 «8 200 170 1.0
20 12 44 N+1 44 450 170 10|14 2 24 V= ¢J -110 160 20|14 2 INO-4 T 200 170 1.0
6 10 44 N= v8 420 13.0 50| 7 11 29» 0O+1 vA -140 130 50| 8 15 2#S+2 v4 130 140 4.0
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13 8 44 N= v6 420 13.0 50|16 4 3«4V-= *7 -140 130 5.0|19 10 3« N= K 110 120 6.0
1 14 34 S+1 v7 170 10.0 8.0|19 10 2NV +1 ¢J -150 100 8.0| 7 11 INO-2 «9 100 8.0 10.0
9 19 1a N+2 ¢9 140 70 11.0(20 1 2NO+3 49 -210 80 100|16 4 INO-2 T 100 8.0 10.0

16 3 34 N= v2 140 7.0 110 8 15 3NO= v8 -400 40 140(18 6 INO-2 «8 100 8.0 10.0

17 11 INN+1 #8 120 40 140( 9 13 3NV= a2 -400 40 140 3 5 24 0-1 vQ 50 2.0 16.0

15 7 44 N-1 *A -50 20 16.0|17 12 3NV= *7 -400 40 140(17 12 34 O-1 vQ 50 20 16.0
2 4 44 N-2 v6 -100 0.0 180| 3 5 3NO+1 8 -430 0.0 180(20 1 340-1 vQ 50 2.0 16.0

19 4 K9 Basta kontrakt 20 & EKn4 Basta kontrakt 21 « KDKn9 Basta kontrakt

Syd v 10654 3¢ SD-1-100 Vast v Kn532 64 N =1430 Nord vKn72 7% O =-1440

oV + K1083 Alla ¢ E52 NS + Kn10965

#DKn2 & ¢ v & NT *EK7 & ¢ v & NT «D & ¢ v & NT
872 « EDA43 N6 8466 a7 4 K105 N 7 106 1211 485 4 E10732 NO5131
vD983 vKKn72 S 68466 vK108764 v D9 S 7 106 1211 vED8  vK1054 S05131
72 ¢ D54 065877 ¢4 ¢ D10987 06 3712 ¢ EK8 ¢- O 137 121012
#K1093 #E5 V65877 #DKn953 %642 V63712 #E6532 #KKn109 V 137 121012

+ Kn1065 « D98632 464

vE vE v 963

¢ EKn96 ¢ KKn63 ¢ D7432

*8764 +108 *874

Par Kontr Ut Res Poang Par Kontr Ut Res Poang Par Kontr Ut Res Poang

20 2 3v V-2 «Q 200 180 00|19 11 3NN+3 7 690 180 0.0|10 15 2V +4 T -170 180 0.0
3 14 INO-1 ¢6 100 150 3.0|15 9 3NS+2 ¢5 660 160 20|13 11 44 O= *2 -420 16.0 2.0
516 INO-1 ¢+9 100 150 30| 5 16 44 S+1 #Q 650 100 80| 2 17 54 0+2 49 -440 140 4.0
19 11 2¢ S-1 3 50 120 6.0 8 12 44 S+1 ¢4 650 100 80|18 8 3NV+2 K -460 120 6.0
4 6 INO= +9 -90 8.0 10.0|13 10 44 S+1 vQ 650 100 80| 5 7 5NV+1 K -490 5.0 13.0
15 9 INO= +9 -90 80 10.0|18 7 44 N+l vA 650 100 80| 9 1 3NV+3 &K -490 5.0 13.0
18 7 INO= +6 -90 80 10.0|20 2 44S+1 4 650 100 80|14 4 3NV+3 4] -490 50 13.0
13 10 INO+1 9 -120 4.0 140 3 14 34 S+2 ¢4 200 3.0 150|16 6 3NV+3 +J -490 5.0 13.0
8 12 INO+2 &3 -150 20 160 4 6 34 S+2 ¢4 200 30 150|119 12 3NV +3 *J -490 5.0 13.0
17 1 INO+3 5 -180 0.0 18017 1 2vV-1 «7 100 0.0 180|20 3 3NV +3 *J -490 50 13.0

22 47642 Basta kontrakt 23 4 Kn9752 Basta kontrakt 24 4942 Basta kontrakt

Ost vE3 3NT S =400 Syd v KD8753 ANT V =-630 Vast v K92 2NT N =120

oV ¢ 87542 Alla .- Ingen 4109843

*EK & ¢ v & NT »83 % ¢ v &4 NT *E9 & ¢ v &4 NT
«DKn8 4E105 N9 75809 » K863 Ly N2 2883 D105 4EK73 N797 78
vKn752 vD10984 S97589 vE92 v 106 S22883 vD4 v 108763 S79778
¢ K103 # EKn9 045854 +4 ¢EKD9653 O 10104 5 10 ¢ Kn62 +K 06 3565
#1063 %92 V45854 #EKKNn94 #D102 V 10104 5 10 #108643 #D75 V635675

K93 «EDI10 » Kn86

v K6 v Kn4 v EKn5

+ D6 + Kn10872 ¢+ ED75

#DKn8754 #765 #KKn2

Par Kontr Ut Res Poéang Par Kontr ut Res Poéang Par Kontr ut Res Poéang

10 15 3#S+1 ¢3 130 180 00| 7 16 4¢DO-1 vJ 200 180 00|10 2 3NS+1 #6 430 18.0 0.0
20 3 INN+1 v4 120 160 20|19 1 5¢0-1 vJ 100 16,0 20| 5 14 INS+3 #3 180 140 4.0
16 6 3#S-= vJ 110 130 50|17 3 2¢ O+1 vJ -110 140 40| 6 8 2NS+2 vQ 180 140 4.0
19 12 34 S= v2 110 13.0 50| 9 18 44 O= s A -130 120 6.0|20 4 2NS+2 vQ 180 140 4.0
5 7 3v0-1 3 100 90 90| 6 8 3NV= vQ -600 7.0 11.0|12 13 INS+2 vQ 150 9.0 9.0
9 1 3v0O-1 *J 100 90 90|10 2 3NV= vQ -600 70 110|119 1 INS+2 vQ 150 9.0 9.0
2 17 Pass 6.0 12.0|12 13 3NO= &7 -600 70 110| 7 16 2¢ N+2 &A 130 5.0 13.0
13 11 44 S-1 v8 -50 20 16.0|15 11 3NV= v8 -600 70 11017 3 3¢ N+1 &A 130 5.0 13.0
14 4 3NN-1 v8 -50 20 16.0| 5 14 3NV +1 vK -630 20 16.0| 9 18 2¢ N+1 «A 110 20 16.0
18 8 24 N-1 vT -50 20 16020 4 4¢vyDN-3 +A -800 0.0 18.0(15 11 24 O-2 ¢5 100 0.0 18.0
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